
Trigonometry Worksheet 4

Refer to the trigonometric identities to solve the following questions.

1. Find principal and general solutions of cosx = 0, sinx = 0, tanx = 0, and cot x = 0.

2. Find general solution of the follwing:

1. cos θ = cosα

2. sin θ = sinα

3. tan θ = tanα

4. cot θ = cotα

3. Find the general solution of the following equations:

1. sin 2x = 0

2. cos 3x = 0

3. sin(x− π
4
) = 0

4. tan(π
6
+ 4x)

5. cos(x+ π
8
) = 0

6. sinx = 1√
2

7. secx = 2

8. sin 2x = −1
2

9. tan 3x = −1
10. 4 sin2 x = 1

11. sin 2x− sin 4x− sin 6x = 0

4. Prove that if θ and φ are not odd multiples of π
2
, then tan θ = tanφ ⇒ θ = nπ + φ,

where nεZ

5. Prove: a cos θ + b sin θ = c

⇔ θ = 2nπ + α± β,
where cosα = a√

a2+b2
, cos β = c√

a2+b2
.

6. Find the principal and general solution of the following equations:

1. sinx =
√
3
2

2. secx = 2√
3

3. cscx = − 2√
3

4. cotx = −
√
3

5. tan 3x = 1



6. tanx = −1
7. cot 2x = − 1√

3

8. cscx = −2
9. sec x

2
=
√
2

10. cos 2x = − 1√
2

7. Find the general solution of the following trigonometric equations:

1. cos 2x+ cos 4x = 0

2. cos 4x = cos 2x

3. sin 3x+ sin 5x = 0

4. sin 4x = sin 2x

5. cos 3x = sin 2x

6. sin 3x+ cos 2x = 0

8. Solve

1.
√
3 cosx− sinx = 1, and

2. secx− tanx =
√
3

9. Solve

1. 2 tanx− cotx+ 1 = 0 (Hint: Use cot x = 1
tanx

)

2. tan3 x− 3 tanx = 0

10. Solve

1. sinx tanx− 1 = tan x− sinx

2. sin 2x tan 2x− 1 = tan 2x− sin 2x
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